KeY

. Pre-Calculus 11 -

Lesson 7.3 ~ Absolute Value Equations

An equation in which thé variable occurs in an absolute value sign is called an
absolute-value equahon ‘We will use cases fo solve these absolute-value

equo’nons

‘Case 1:the expressuon inside the absolute vdlue symbol‘isspositive or zero

Case 2: the expresmon m5|de the absolute value symbol issnegative
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Example #1: Solve 16_‘— xl = 2- graphically and algebraically.

1B

flx)= |<o x| & glx)=2

or

4

_\/'=_<2,

o y=le-x) &

s

x= 4,9

case 2%
6-x=-2

) Foy

cose |
b-x =2
=

Example #2: Solve |x + 5| = 4x — 1

A+S = YHYor-j
e=3x
3 . 3
2 =

|2+5] =42y
7l=7

verify

verify: ’b—‘i—l |=2 ] b-2|=2
[2) =2+ |-2] =2 v

4+ S= - (Ha-1)
X4S= -yt + |
Sx = -t |
x = —H &— eaneaus oot

|4 45 = 1€y
""2‘ 42 "'. X
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ExomQ. le #3: Solve |[4x — 5| +9 =2 =b ]L{»x_—sl = 2.9

B”’%'X-Sy = =7 (
? .
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Example #4: Solve [x% — 3x| = 2
o -3 1
X%-3x =2 1?2 > -3x = -2
b T ey e
cor't foctor Genb.
| : >xX= 2 > = |
x=3%Jzaulzy o |
2 o venfy: 522—3(2)E=2 st—g(;)j:z
=33 7 B 2l =2 v I-2| =2
2 : '
Ry S |3 562*-3(a.5:2)) =2 (
| = .5@2 )"0.51021'“ B | [2] = 20
|co.se2y’ 3t0.562)) = 2
2] =2 ~

Example #5: Solve |x — 5] = x% — 8x + 15

- A=STAE-Bx+IS N j(_-s -- (> 2?-—832«,—5- s)

OZJC,2'~CIDC+2.O" | er:“xZ+8x_,aS
- OF (- -5) . X2-Ix 41D =o
o =y ,5 C (-2 (x-5) =0
a —
exhraneous lDL-— 2 5
l4-5] = y2-8)+IS lz-s)=2%-8(2)+1S
H)= -1 x I-3)= 3 ,
{\.
|55 |=52-8(5)+15

lol= 0 v




